SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant (Rs in	rranged by the Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KIs	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	Sidhwan Canal Road, Ludhiana OML	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2	Ludhiana OML to Mullanpur Dakha on NH-5 (Old NH-95) on either side	Ludhiana	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3	From Patiala Bus stand to Urban Estate LHS	Patiala	Regular	300	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	In and within 2 km of Tripari town, Patiala	Patiala	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	In and within 2 Kms of Village Bhunerheri, on Patiala Pehowa Road, SH-8	Patiala	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
6		Fatehgarh Sahib	Regular	260	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

7	From Dhakala to Karhali Village Bathoikhurd	Patiala	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
8	WML Maur Mandi	Bathinda	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
9	Within 10 Kms of DC office on Fazilka Sulemanki road (NH-7)	Fazilka	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
10	Village Sayyadwala on NH-62, Abohar to Shri Ganganagar road RHS	Fazilka	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
11	Village Kallarkhera on Abohar Sriganganagar Road (NH 62) LHS	Fazilka	REGULAR	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
12	Village Mattar Hithar on Gajniwala to Mamdot Road	Ferozepur	RURAL	72	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
13	In Village Ramgarh on Gumtikhurd Chaina Road	Faridkot	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
14	On LHS of NH-44 (Old NH-1) from Jalandhar to Ludhiana between KM STONE 500 TO 504 (LHS).	Jalandhar	Regular	200	SC	CFS	45	45	2025	0	0	Draw of lots	0	3
15	Between kms stone 17 to 23 on LHS (On NH 54)LHS moving from Pathankot to Gurdaspur	Gurdaspur	Regular	200	SC	CFS	40	45	1800	0	0	Draw of lots	0	3
16	Verka WML, On Verka Chowk To NH-54 Intersection	Amritsar	Regular	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3

17	On NH-3, From India Gate To Attari, Between Km Stone No 15 to 17, LHS	Amritsar	Regular	160	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
18	On LHS of SH-24, In or within 2 Kms of Village Machhian, Hoshiarpur to Dasuya Road	Hoshiarpur	Regular	150	SC	CFS	45	45	2025	0	0	Draw of lots	0	3
19	On LHS of NH-103A Village Samundra From Garhshankar to Balachaur Road	Hoshiarpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
20	On LHS of NH-44 Village Dhadiala From Cholang to Tanda	Hoshiarpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
21	On LHS, NH-3 in or within 1 Km of Village Chuharwali on Jalandhar-Hoshiarpur Road	Jalandhar	Regular	250	SC	CFS	40	45	1800	0	0	Draw of lots	0	3
22	Ladhewali To Hoshiarpur Road, Jalandhar City WML	Jalandhar	Regular	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
23	In or within 1 kms of Village Lakhnaur on LHS from Kharar to Kurali NH205	SAS Nagar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
24	Village Salabatpur on Omaxe Road, Mullanpur	SAS Nagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
25	In sector 117 on LHS of Aerocity Road from Kharar to Airport	SAS Nagar	Regular	250	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
26	In or Within 1 Kms of Village Tangori on LHS from Banur to Kharar NH 205A	SAS Nagar	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

27	RHS on NH 205 from Kharar to Kurali (Not on Kurali Byepass)	SAS Nagar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
28	In or within 1 kms of Chahar Majra on RHS from Chandigarh to Kurali PR4 road	SAS Nagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
29	On LHS of road between Banur to Rajpura on NH7	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
30	On LHS of road between Banur to Zirakpur on NH7	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
31	In or within 1 kms of Village Raipur Kalan on RHS from Kharar to Banur NH205A	SAS Nagar	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
32	On LHS of road between Sunny Enclave and Verka Chowk from Kharar to Chandigarh NH5	SAS Nagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
33	On LHS of road between Rajpura to Banur on NH7	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
34	Zirakpur WML	SAS Nagar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
35	On LHS of Aerocity Road between intersections of NH7 & NH152 leading from Dhillon Plaza	SAS Nagar	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
36	In or within 1 kms of Kartarpur LHS from Chandigarh to Kurali PR4 Road	SAS Nagar	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

37	In or within 1 kms of Rani Majra from Chandigarh to Kurali PR4 road	SAS Nagar	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
38	In or within 1 Kms of village Gharaun LHS from Ludhiana to Chandigarh NH5	SAS Nagar	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
39	In or within 1 kms of Saidpura from Derabassi to Barwala	SAS Nagar	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
40	In or within 1 kms of Majra from Kurali to Siswan road	SAS Nagar	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
41	In or within 2 kms of village Lehli LHS from Derabassi to Ambala NH152	SAS Nagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
42	On LHS of road from Airport to Banur PR9/IT City road	SAS Nagar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
43	In or within 1 kms of Village Daunmajra LHS from Kharar to Kurali Road NH 205	SAS Nagar	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
44	Mohali WML	SAS Nagar	Regular	150	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
45	Chajumajra WML	SAS Nagar	Regular	100	ОВС	СС	20	20	400	25	10	Bidding	30	4
46	On Ludhiana-Ferozpur Road from Ludhiana to Ferozpur LHS, Ludhiana WML	Ludhiana	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

47	Kharar WML, LHS on Kharar to Landran Road	SAS Nagar	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
48	in or Within 2 kms of Mubarkpur on Dakoli Mubarkpur Road	SAS Nagar	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
49	On Lohara Road Giaspura, Ludhiana WML	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
50	Dehlon Bypass on Ludhiana Malerkotla Road SH-11	Ludhiana	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
51	On LHS of Kurali Byepass between KM stone no. 23 and 25 from Kharar to Ropar NH205	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
52	In or within 1 Kms of Village Lahund RHS from Banur to Shambhu NH 205A	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
53	A.T.I. Road, New Guru Angad Colony, Ludhiana WML	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
54	In or within 2 kms of Village Bhago Majra LHS from Landran to Banur NH205A	SAS Nagar	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
55	Between Govt Model Secondary School and Fountain Chowk on Atam Marg, Ludhiana WML	Ludhiana	Regular	190	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
56	Near Chander Nagar, on Bada Nala Road towards GT road	Ludhiana	Regular	150	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5

57	On SH-13 from Mullanpur till Sudhar Toll Plaza	Ludhiana	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
58	On LHS in Tira on Chandigarh to Kurali PR4 road	SAS Nagar	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
59	Between Dholewal Chowk and Partap Chowk on LHS of Dholewal Chowk to Partap Chowk Road, Ludhiana WML	Ludhiana	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
60	From Shivpuri Chowk to Basti Chowk on LHS from Shivpuri Chowk on Jalandhar Byepass NH44 (old NH1)	Ludhiana	Regular	156	ОВС	СС	20	20	400	25	10	Bidding	30	4
61	On LHS of Dugri Road from Atam Nagar Police Post till Libra Chowk, Ludhiana WML	Ludhiana	Regular	219	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
62	On LHS of Pakhowal Road connecting Phullanwal Chowk to Sidhwan Canal, Ludhiana WML	Ludhiana	Regular	195	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
63	From Giaspura Rose Garden till Pipal Chowk on Giaspura 33ft Road, Ludhiana WML	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
64	Sidhwan Canal Road, Ludhiana WML	Ludhiana	Regular	150	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
65	On Kacha Malak Road, Jagraon WML	Ludhiana	Regular	116	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
66	From Phullanwal Chowk to Lodhi Club Underpass LHS on 200 ft Road, Ludhiana WML	Ludhiana	Regular	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

67	From Shivpuri Chowk to Basti Chowk on RHS from Shivpuri Chowk on Jalandhar Byepass NH44 (old NH1)	Ludhiana	Regular	156	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
68	On Kailash Nagar Road connecting Bajra road within 1 KM of Radha Swami Ashram, Ludhiana WML	Ludhiana	Regular	197	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
69	BRS Nagar, Ludhiana WML	Ludhiana	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
70	Within 2 Km of Khanna City Center in Khanna WML On RHS of NH44 (old NH1) from Khanna to Ludhiana	Ludhiana	Regular	158	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
71	Between Samrala Chowk and Sherpur Chowk on LHS from Samrala Chowk to Sherpur Chowk on Ludhiana Byepass NH44 (old NH1)	Ludhiana	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
72	On College Road, Civil Lines, Ludhiana WML	Ludhiana	Regular	175	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
73	Raikot WML	Ludhiana	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
74	Bharat Nagar Chowk to Fountain Chowk (Either Side), Ludhiana WML	Ludhiana	Regular	215	OPEN	СС	20	20	400	25	10	Bidding	30	5
75	Samrala WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
76	Between Sahnewal and Doraha on LHS of NH44 (old NH1) from Sahnewal to Doraha upto Sidhwan Canal	Ludhiana	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5

77	LHS between Lehra Toll Plaza to Dehlon on SH 11	Ludhiana	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
78	Shimlapuri, Ludhiana WML	Ludhiana	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
79	On Noorwala road within 1 km from Shivpuri Chowk	Ludhiana	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
80	In Village Jugiana from Sahnewal towards Sherpur Chowk on LHS of NH 44 (old NH1)	Ludhiana	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
81	Phulanwal Chowk to Lodhi Club Underpass RHS on 200ft Road, Ludhiana WML	Ludhiana	Regular	180	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
82	Village Bondli on Samrala Bypass RHS on Ludhiana to Chandigarh	Ludhiana	Regular	180	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
83	In or within 4 Kms of Village Bharthala on RHS towards Chandigarh on New Samrala bypass	Ludhiana	Regular	180	OPEN	СС	35	45	1575	25	10	Bidding	30	5
84	On Tibba Road within 1 km distance from NH-	Ludhiana	Regular	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
85	Between Samrala Chowk and Jamalpur Post office on LHS of Samrala Chowk to Kohara Road	Ludhiana	Regular	183	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
86	On LHS from Cheema Chowk to Shiv Chowk, RK Road, Ludhiana WML	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

87	On RHS of Ludhiana Ferozpur Road from Ferozpur to Ludhiana, Ludhiana WML	Ludhiana	Regular	210	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
88	Within 1 KM of Village Latodana on Ludhiana - Chandigarh Road LHS	Ludhiana	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
89	On Pakhowal Road within 1 KM from Indoor Stadium towards BRS Bypass Road RHS	Ludhiana	Regular	180	ОВС	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
90	On Clock Tower Road in Bhai Manna Singh Nagar	Ludhiana	Regular	160	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
91	On Chimni Road between Canal Road and Quality Chowk, Ludhiana WML	Ludhiana	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
92	On National Road, Ghumar Mandi, Ludhiana WML	Ludhiana	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
93	Within 2 Km of Bapu Jwala Singh Chowk on Jassian Road, Ludhiana WML	Ludhiana	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
94	DMC Chowk to Dairy Complex on Rajpura Road, Ludhiana WML	Ludhiana	Regular	234	OBC	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
95	New Deep Nagar, Ludhiana WML	Ludhiana	Regular	234	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
96	Village Ram Nagar from Rajpura to Chandigarh near Gyan Sagar Institute, LHS on NH-7	Patiala	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

97	From Village Sher Majra to Village Channo on LHS of Patiala - Sangrur Road (NH - 7)	Patiala	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
98	On LHS of NH44 (old NH1) from Khanna to Fatehgarh Sahib within 1 km of Prestine Mall	Ludhiana	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
99	Dhamo Majra to Samana Road, Near 24 No. Phatak, Patiala WML	Patiala	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
100	Sarabha Nagar, Ludhiana WML	Ludhiana	Regular	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
101	Rajpura WML	Patiala	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
102	LHS while going towards Hero Bakery Chowk on Malhar Road, Ludhiana WML	Ludhiana	Regular	160	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
103	On Ladhowal New Byepass connecting NH-1 & NH-95	Ludhiana	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
104	Patran WML	Patiala	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
105	From Village Channo to Sher Majra on LHS of Sangrur - Patiala Road (NH - 7)	Patiala	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
106	On G.T. Road Basti Chowk towards Delhi near Gurudwara Sant Bhag Singh LHS	Ludhiana	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

107	From Karseva Walon ka Gurudwara on RHS of road connecting Sanauri Adda to Devigarh road along Badi Nadi	Patiala	Regular	110	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
108	Between KM stone no. 30 to 40 on RHS of NH- 205 on new bypass from Rupnagar to Kharar	Rupnagar	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
109	Morinda City WML	Rupnagar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
110	On LHS of G.T Road from Dana Mandi Chowk towards New Sabzi Mandi	Ludhiana	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
111	Rupnagar City WML	Rupnagar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
112	In or within 3KM of Village Buthgarh on LHS of NH-5 (old NH-95) from Ludhiana to Morinda Road	Fatehgarh Sahib	Regular	233	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
113	In or within 1 KM of Vill Jharaudi on New NH from Khanna to Nawanshehar LHS	Ludhiana	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
114	On Ramgarh to Sahnewal Road , Sahnewal WML	Ludhiana	Regular	220	OPEN	СС	20	20	400	25	10	Bidding	30	5
115	Near Urban Estate Phase 2 on Rajpura-Patiala- Sirhind Byepass Road, Patiala WML	Patiala	Regular	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
116	On NH 7 between KM stone no. 172 to 176, RHS from Bathinda to Barnala	Barnala	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4

	T				I				1					
117	From Thikriwala Chowk to Raikot road (SH13) on Sanghera Bye Pass Road, Barnala WML	Barnala	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
118	LHS from Leela Bhawan Market to Gurdwara Dukhniwaran Sahib via no. 21 Flyover	Patiala	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
119	Between Barnala Bus Stand and Tarksheel Chowk , Barnala WML	Barnala	Regular	110	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
120	Between Village Mahlan and Village Mauran on NH52 RHS from Sangrur to Patran	Sangrur	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
121	Tapa WML	Barnala	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
122	Samana WML	Patiala	Regular	120	OPEN	CC	20	20	400	25	10	Bidding	30	5
123	Between Village Kammomajra and Village Kheri on NH52 RHS from Sangrur to Patran	Sangrur	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
124	Within 2 km from Chitkara University on either side of NH 7 from Banur to Rajpura on LHS	Patiala	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
125	Village Tepla on Banur Ambala Road	Patiala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
126	Between Grewal Chowk to ITI Malerkotla on Malerkotla to Nabha Road, Malerkotla WML	Sangrur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

127	Between KM Stone 41 and 43 on SH 11, Malerkotla WML, LHS from Malerkotla to Ludhiana	Sangrur	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
128	Model Town on Cinema road, Patiala WML	Patiala	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
129	Between KM Stone 604 to 609 from Sirhind to Rajpura, LHS on NH44	Patiala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
130	Lehragaga WML	Sangrur	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
131	Between KM stone no. 30 to 34 on SH 11, LHS from Sangrur towards Ludhiana	Sangrur	Regular	118	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
132	Within Village Bhadson on Nabha-Bhadson Road on SH 12A	Patiala	Regular	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
133	Sangrur WML	Sangrur	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
134	Between KM Stone no.241 to 245 on NH-7, LHS from Sangrur to Patiala	Sangrur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
135	Moonak WML	Sangrur	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
136	From Sheeshmahal to Rajpura Bypass road (NH7) WML Patiala	Patiala	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

137	In or within 4 KM of Village Shampura on Rupnagar Bypass road connecting Chandigarh to Jalandhar	Rupnagar	Regular	154	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
138	On link road between Lyallpur Sweets and Regenta Central Klassik Hotel, Ludhiana WML	Ludhiana	Regular	176	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
139	Between Satta Bazar Chowk to Malerkotla Bus Stand, Malerkotla WML	Sangrur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
140	Village Adampur on SH-8 from Sirhind to Patiala	Fatehgarh Sahib	Regular	153	OPEN	DC	35	45	1575	25	60	Draw of Lots	15	5
141	Between KM Stone no. 186 and 190 on NH 7, LHS from Sangrur to Bathinda	Barnala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
142	From Saggu Chowk to Haibowal Chowk on DMC Road, Ludhiana WML	Ludhiana	Regular	160	ОВС	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
143	Between KM Stone No. 30 to 50 on L.H.S. of NH-205 (old NH-21) from Rupnagar to Kharar	Rupnagar	Regular	152	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
144	Amloh City (WML)	Fatehgarh Sahib	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
145	Near Grain market, On Sirhind to Patiala road WML Patiala	Patiala	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
146	Between Janta Chowk Sangrur to Village Kammomajra on Sangrur to Patran Road, Sangrur WML	Sangrur	Regular	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

147	Between KM Stone no. 201 to 205 on NH 7, LHS from Barnala to Sangrur	Barnala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
148	In or within 3 kms of Village Marauli Kalan, Morinda City WML	Rupnagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
149	Fatehgarh City (WML)	Fatehgarh Sahib	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
150	Between KM Stone no. 185 and 189 on NH 7, LHS from Bathinda to Sangrur	Barnala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
151	Bhawanigarh Town WML	Sangrur	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
152	In or within 3 km of Vill Jandiali on LHS of Ludhiana Kohara Road NH5 (old NH95)	Ludhiana	Regular	182	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
153	Machhiwara WML	Ludhiana	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
154	Malerkotla WML, on Bhumsi to Mana Road	Sangrur	Regular	108	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
155	In or within 3 kms of Village Ghanuali on NH- 205 either side from Ropar to Nangal	Rupnagar	Regular	152	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
156	Payal WML	Ludhiana	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4

157	Mullanpur Dakha WML	Ludhiana	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
158	Sunam City WML	Sangrur	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
159	Dhuri WML on SH 11	Sangrur	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
160	Between Village Badrukhan and Village Bahadurpur on NH 7, LHS from Sangrur to Barnala	Sangrur	Regular	153	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
161	Chamkaur Sahib WML on Ludhiana to Rupnagar Road	Rupnagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
162	Between KM stone no. 136 to 141 on NH 703, LHS from Barnala to Moga	Barnala	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
163	Within 1 KM of Bhatti Chowk, Sirhind WML	Fatehgarh Sahib	Regular	100	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
164	Village Mamoli on Lalru Banur Road	SAS Nagar	Rural	70	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
165	Village Mohie	Ludhiana	Rural	113	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
166	Within 3 KMs of Village Bassian on LHS of Bassian to Raikot Road	Ludhiana	Rural	92	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

167	Village Badowal-Jhande	Ludhiana	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
168	Village Rurka on Dehlon Sahnewal road	Ludhiana	Rural	100	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
169	Village Kotli on Doraha to Payal Road	Ludhiana	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
170	Village Chunni Kalan on SH-12A	Fatehgarh Sahib	Rural	157	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
171	In or within 3 kms of Village Malakpur on Lalru Handesra Road	SAS Nagar	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
172	In or within 4 kms of Village Samirowal on Nurpur Bedi to Jhajj Chowk	Rupnagar	Rural	100	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
173	Village Kheri on Mubarakpur to Sundrain Road	SAS Nagar	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
174	Within 3 KMs of Village Abupura on Sidhwanbet to Abupura Road	Ludhiana	Rural	142	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
175	Within 2 Km from Dana Mandi (Kisan Bhawan) on Hazi Rattan- Multania Road, Bathinda WML	Bathinda	REGULAR	110	OPEN	DC	15.24	18.29	279	25	45	Draw of Lots	15	5
176	Between Fauji Chowk and Bibiwala Chowk On Bibiwala Road Bathinda WML	Bathinda	REGULAR	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4

177	WML TALWANDI SABO ON TALWANDI SABO TO SARDULGARH ROAD	Bathinda	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
178	BHATTI ROAD BATHINDA	Bathinda	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
179	ON SANTPURA ROAD BATHINDA WML	Bathinda	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
180	WML GONIAYAN MANDI	Bathinda	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
181	ON 60FT ROAD BABA FARID NAGAR, BATHINDA	Bathinda	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
182	IN TRANSPORT NAGAR, KOTKAPURA ROADBATHINDA	Bathinda	REGULAR	170	OPEN	СС	30	30	900	25	10	Bidding	30	5
183	WML RAMPURA PHUL ON MEHRAJ ROAD	Bathinda	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
184	WITHIN 3 KM FROM KOT FATTA BUS STAND ON MANSA BATHINDA ROAD RHS ON NH 148B	Bathinda	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
185	BETWEEN BIBIWALA CHOWK AND ROSE GARDEN ON BARNALA BYPASS ROAD, NH 7 ,BATHINDA	Bathinda	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
186	Within 10 km on LHS from civil hospital Bajhakhana towards Bhatinda on NH-54	Faridkot	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3

	1	I			ı				1					
187	VILLAGE BHAGI BANDER ON TALWANDI SABO BATHINDA ROAD	Bathinda	REGULAR	105	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
188	Village Satiyewala on Ferozepur to Zira Road NH 354 B	Ferozepur	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
189	WML Bathinda on Bathinda Malout Road FROM Guru Nanak Dev Therma Plant towards Malout ON NH 7	Bathinda	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
190	Abohar City (WML) on Abohar-Fazilka road (NH-7)	Fazilka	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
191	WML Kotkapura on Kotkapura -Duareana road	Faridkot	REGULAR	100	ОВС	DC	30	30	900	25	45	Draw of Lots	15	4
192	VILLAGE PAKKE KALAN ON DABWALI ROAD TO GGS REFINERY ROAD - NH254	Bathinda	REGULAR	155	OPEN	СС	35	45	1575	25	10	Bidding	30	5
193	BETWEEN ITI CHOWK AND JASSI CHOWK ON BATHINDA MANSA ROAD RHS, BATHINDA	Bathinda	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
194	On Jalalabad to Ferozepur road, SH-20 (LHS) outside Jalalabad municipal limit.	Fazilka	REGULAR	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
195	Within 5 km on RHS from Sandhwan bus stand towards Kotkapura on NH-54	Faridkot	REGULAR	190	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
196	Abohar (WML) on Hanumangarh road	Fazilka	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

197	Jalalabad Town (WML) on Fazilka-Jalabad- Ferozepur Road	Fazilka	REGULAR	108	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
198	Between Rampura and Nihalkhera on Fazilka to Abohar road (LHS)	Fazilka	REGULAR	165	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
199	On Fazilka-Malout road within Fazilka municipal limit	Fazilka	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
200	On Jalalabad - Bahmani wala road within Jalalabad municipal limit	Fazilka	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
201	On Kannla wala to Chotta Tiwana wali road within Jalalabad Municipal limit	Fazilka	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
202	Between Jalalabad(W) to Ghubaya on SH-20	Fazilka	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
203	Between Maujgarh Gaushala and Rajasthan border on Abohar- Shri Ganganagar road (NH- 62) RHS	Fazilka	REGULAR	238	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
204	Fazilka (WML) on Abohar-Fazilka road(NH-7)	Fazilka	REGULAR	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
205	Within 8 km on RHS from Central bank of India , Chahal branch towards Kotkapura on NH-54	Faridkot	REGULAR	192	OPEN	СС	40	45	1800	25	10	Bidding	30	5
206	5 Km from Budhlada Morh towards Cheema on SH12A	Mansa	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4

207	Within 4 km on LHS from Tehna towards Mudki on NH-54	Faridkot	REGULAR	151	OPEN	СС	40	45	1800	25	10	Bidding	30	5
208	Village Malwal Quadim on NH 5 LHS from Ferozpur to Moga	Ferozepur	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
209	Within 5 km on RHS from village Bargari bus stand towards Bhatinda on NH-54	Faridkot	REGULAR	152	OPEN	СС	40	45	1800	25	10	Bidding	30	5
210	Zira WML on Zira to Talwandi Bhai Road Not on NH 54	Ferozepur	REGULAR	102	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
211	Village Mudki on new By pass NH 54 LHS from Talwandi Bhai to Faridkot	Ferozepur	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
212	Fazilka (WML) between MR Enclave and Hotel Paradiso on Freedom Fighter Road	Fazilka	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
213	Ferozpur City WML	Ferozepur	REGULAR	120	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
214	Village Bandala on Arifke to Amritsar Road via village patti on NH 354	Ferozepur	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
215	Village Jandwala on NH 54 RHS from Mudki to Faridkot	Ferozepur	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
216	Between KM Stone 194 & 200 on NH 703	Mansa	REGULAR	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4

217	Budhlada bus stand road, Budhlada WML	Mansa	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
218	Zira WML on NH 54 LHS from Amritsar to Bhathinda	Ferozepur	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
219	Village Jhok HariHar on NH 354 LHS on Ferozepur to Muktsar Road	Ferozepur	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
220	Within 5 km from Bhatinda Chowk, Malout towards Bhatinda at NH-7	Muktsar	REGULAR	151	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
221	From Mansa Kanchiyan to Ramdittawala chowk on NH 703 on LHS	Mansa	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
222	Mansa within Municipal limits on any 7m wide road	Mansa	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
223	Between Km stone 163 and 170 on NH 703	Mansa	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
224	Within 5 KM On DHARAMKOT TO KOTISEKHAN ROAD FROM DHARAMKOT POLICE STATION	Moga	REGULAR	100	ОВС РН	DC	35	35	1225	25	60	Draw of Lots	15	4
225	Makhu WML on Makhu to Lohiya Road on RHS from Makhu to Lohiya	Ferozepur	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
226	Fazilka (WML) on Gaushala road	Fazilka	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

227	VILLAGE GHAL KALAN ON MOGA TO FEROZEPUR ROAD ON NH-95(RHS)	Moga	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
228	Within 2 Kms of Intersection of Zira & Dunnekke Lohara Byepass Road on Dunnekke Lohara Byepass Road Moga WML	Moga	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
229	WITHIN 5 KM ON NH-71 FROM BABA MANGAL SINGH INSTITUTE, BUGHIPURA TOWARDS DALA	Moga	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
230	WML Baghapurana on Rode Sarja Road	Moga	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
231	ON BADHNIKALAN BYEPASS ROAD on NH 703 TOWARDS BARNALA (RHS)	Moga	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
232	Village Ajitwal on NH 95	Moga	REGULAR	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
233	On Muktsar - Kotkapura road on RHS Within Muktsar Municipal Limit	Muktsar	REGULAR	185	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
234	WML Muktsar on Muktsar- Bura Gujjar Road	Muktsar	REGULAR	196	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
235	On Muktsar Bhatinda road from hotel Royal Inn to Bhatinda chowk on RHS Within Muktsar Municipal Limit	Muktsar	REGULAR	196	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
236	Within 2 km from Bangewala bus stand, village Bangewala on NH-354	Muktsar	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5

			1		I				I			ı		
237	WITHIN 5 KM FROM KOTISEKHAN CHOWK TO ZIRA ROAD	Moga	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
238	Mallanwala WML on Kamalwala road	Ferozepur	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
239	Village Rahme Shah Bodla on SH 20 LHS on Jalalabad to Ferozpur	Ferozepur	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
240	On NH-754 from bhatinda Chowk to Kotkapura chowk on LHS Within Muktsar Municipal Limit	Muktsar	REGULAR	196	OPEN	СС	35	45	1575	25	10	Bidding	30	5
241	Within 10 km from Malout towards Dabwali on NH-9	Muktsar	REGULAR	153	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
242	Abohar (WML) on Nai sadak	Fazilka	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
243	VILLAGE MEHNA ON NH-95	Moga	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
244	Within 10 Kms of Abohar bye-pass intersection on Abohar-Sittogunno Road (NH-354E)	Fazilka	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
245	VILL RAMNAGAR TO KUTTIWAL KALAN ON MAUR MANDI TO RAMPURA ROAD, NH254	Bathinda	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
246	Within 500m of Udham Singh Chowk in Jalalabad (W) on Muktsar Road	Fazilka	REGULAR	100	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

247	Between Shastri Chowk and Mahavir chowk on Wan Bazaar road in Fazilka town	Fazilka	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
248	WML ON BATHINDA DABWALI ROAD LHS	BATHINDA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
249	ON KISHORI RAM HOSPITAL ROAD CONNECTING BARNALA BYPASS AND STADIUM ROAD, Bathinda WML	BATHINDA	Regular	100	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
250	Abohar WML Within 1 KM of Raliway Crosssing on Sitto Gunno Road	Fazilka	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
251	WML Faridkot on Fardikot-Ferozpur Road	Faridkot	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
252	PARAS RAM NAGAR, BATHINDA WML	BATHINDA	REGULAR	100	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
253	VILLAGE LEHRAROHI on NH 54 RHS from Zira to Talwandi Bhai	Ferozepur	REGULAR	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
254	AJIT ROAD BATHINDA	BATHINDA	REGULAR	100	ОВС	СС	15.24	18.29	279	25	10	Bidding	30	4
255	ON AKALSAR ROAD FROM NAMDEV GURUDWARA TO RAILWAY LINE ON RHS WITHIN MOGA MUNICIPAL LIMIT	Moga	REGULAR	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
256	Within 4 Km from Gurunanak Dev PG College Towards Bareta on NH 148 B	Mansa	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5

257	Guruharsahai WML	Ferozepur	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
258	Village Bir Sarkar on LHS on Makhu to Lohiyan Road on NH 703A	Ferozepur	REGULAR	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
259	WML RAMA MANDI ON RAMA MANDI TO RAMSARA ROAD	Bathinda	REGULAR	100	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
260	ON ROAD FROM BARNALA BYPASS TO PUDA PHASE IV & V BATHINDA WML	BATHINDA	REGULAR	100	OPEN CC 1	DC	15.24	18.29	279	25	45	Draw of Lots	15	5
261	100 FT ROAD BATHINDA, BATHINDA WML	Bathinda	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
262	Boha WML on Budhlada Ratia road	Mansa	REGULAR	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
263	Village Talwandi Nepala on NH 54 LHS from Makhu to Amritsar	Ferozepur	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
264	BETWEEN KM STONE 97 TO 99 ON NH-71	MOGA	REGULAR	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
265	Village Chak Somianwala on Guruharsahai to Guddar Dhandhi Road	Ferozepur	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
266	In village Bariwala on Bariwala-Baja Marah Road	Muktsar	RURAL	70	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3

267	Village Gumjal on Panniwala Mahla Road	Fazilka	RURAL	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
268	Village Reond Kalan on Reond kalan Maghania Road	Mansa	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
269	Village Ahmadpur on Mansa Budhlada Road	Mansa	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
270	Village Bajewala on Bajewala Uddat Bhagat Ram Road	Mansa	RURAL	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
271	Village Nahianwala on Gill Patti to Nahianwala Road	Bathinda	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
272	Village Bahmani wala on Jalalabad road	Fazilka	RURAL	58	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
273	Village Kahnewala on Jalalabad road	Fazilka	RURAL	58	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
274	UP TO 2.5 kms from HPCL LPG Plant on new Refinery Road (Byepass Road)	Bathinda	RURAL	70	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
275	Village Mari Mustafa Baghapurana on Kotla Mari Road	Moga	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
276	Village Baochhana on Budhalada Sunam Road	Mansa	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

277	Village Chuhri wala Dhanna on Nihalkhera road	Fazilka	RURAL	58	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
278	Village Theth on Ferozepur to Zira Road	Ferozepur	RURAL	62	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
279	In Village Kauni on Sadiq Guruharsahai Road	Faridkot	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
280	Village Bare ke on Mamdot Road	Ferozepur	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
281	Village Gagan Ke on Fazilka Ganjuana road	Fazilka	RURAL	58	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
282	In village Gidderbha on Gidderbha-Lulbhai road	Muktsar	RURAL	63	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
283	In Village Abul Khurana on Deon khera link road	Muktsar	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
284	Village Nasibpura On Kotshamir to Kot Bhagtu Road	Bathinda	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
285	Village MahaBaddar on Muktsar-Abohar Road	Muktsar	RURAL	72	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
286	Village Mana Singh wala near focal point RHS from pyareana to Mana singh wala road	Ferozepur	RURAL	72	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

287	Village Aklia on Aklia Rar Road	Mansa	RURAL	70	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
288	On RHS of NH-44, in or within 2 kms of Village Jandwal, From Jalandhar to Pathankot road	Hoshiarpur	Regular	200	ОВС	DC	45	45	2025	25	75	Draw of Lots	15	4
289	On Mirankot Road, Stretch Between Ajnala Road & Loharka Road, WML	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
290	On Old NH1, between KMs 430 to 438, RHS, from Amritsar to Jalandhar Road	Amritsar	Regular	200	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
291	From Golden Gate (Amritsar Entrance) to Mall of Amritsar, Amritsar City	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
292	On both sides of NH-344A Nawanshahr Byepass Village Barnala Kalan From Langroya to Mahalon Road	SBS Nagar	Regular	150	ОВС	DC	45	45	2025	25	75	Draw of Lots	15	4
293	Amritsar City, From Gandhi Gate To Hakimanwala Gate, On Either Side	Amritsar	Regular	150	OPEN CC 1	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
294	AMRITSAR CITY WML, GT Road	Amritsar	Regular	200	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
295	On NH-503A From Hoshiarpur to Bullowal Section	Hoshiarpur	Regular	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
296	From Kachehri Chowk to Celebration Mall, Amritsar City	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5

297	Amritsar City, Batala Road, Celebration Mall To Rishabh Motors	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
298	On RHS of NH-103A Village Ibrahimpur From Garhshankar to Balachaur Road	Hoshiarpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
299	On LHS of NH-344 B Village Bassi Daulat Khan From Hoshiarpur to Phagwara Road	Hoshiarpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
300	Manawala To Taran Taran Highway, On NH-54, Between Km. Stone No 116 to 121, RHS	Amritsar	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
301	On Amritsar Bye Pass, From Verka Chowk To Fatehgarh Churian Road Intersection, On LHS	Amritsar	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
302	On Rama Mandi to Hoshiarpur Road, Jalandhar WML	Jalandhar	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
303	Kartarpur WML on Kartarpur Kishangarh Road	Jalandhar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
304	On Ram Tirath Road, From Amritsar Bye Pass Towards Chogawan, Within Amritsar WML	Amritsar	Regular	150	OPEN	СС	15.24	18.29	279	25	10	Bidding	30	5
305	On Amritsar Bye Pass, 4 Kms from Gumtala Chowk to India Gate	Amritsar	Regular	150	OPEN	СС	25	35	875	25	10	Bidding	30	5
306	Between Kms 425 - 430, Jalandhar To Bhogpur, NH-44 , RHS	Jalandhar	Regular	250	ОВС РН	DC	40	45	1800	25	75	Draw of Lots	15	4

307	Between Km Stone 20 and 25 On NH3, RHS, Jalandhar - Hoshiarpur Road	Jalandhar	Regular	250	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
308	On both sides of NH-344A Nawanshahr Byepass Village Langroya From Langroya to Barnala Kalan Road	SBS Nagar	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
309	On LHS of NH-344A Village Kariha From Banga to Nawanshahr	SBS Nagar	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
310	On LHS from Ramamandi to Jandusingha, Jalandhar City WML	Jalandhar	Regular	150	ОВС	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
311	On LHS of NH-3 Village Taragarh From Jalandhar Hoshiarpur Road	Hoshiarpur	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
312	Amritsar City WML, 100 ft road	Amritsar	Regular	150	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
313	Nawanshshar City WML, Banga Road	Hoshiarpur	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
314	Basti Pir Das Road to Leather Complex, Jalandhar City WML	Jalandhar	Regular	150	ОВС	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
315	On Chandigarh Bypass, Hoshiarpur City WML, NH103A, LHS, from Singriwala to Islamabad	Hoshiarpur	Regular	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
316	On LHS of NH-44 WML Tanda City in between KM Milestone 421 to 425	Hoshiarpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

317	Amritsar City, On Amritsar Pathankot Road, NH54, Verka Bypass, RHS	Amritsar	Regular	150	ОВС	СС	30	30	900	25	10	Bidding	30	4
318	On RHS of NH-3 Village Mandiala From Hoshiarpur-Jalandhar Road between KM Milestone 11-14	Hoshiarpur	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
319	On either Side of NH-703A From Waryama to Science City	Jalandhar	Regular	250	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
320	On NH54 RHS, Between KMs 150 to 155, Amritsar Taran taran Road	Tarn Taran	Regular	150	ОВС	DC	45	45	2025	25	75	Draw of Lots	15	4
321	On NH-354, In or within 2 Kms of Village Gera, Hajipur Talwara Road	Hoshiarpur	Regular	200	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
322	On LHS of Jalandhar-Nakodar Road NH-703 B/w Milestone Number 16 & 19	Jalandhar	Regular	250	OPEN	DC	50	60	3000	25	75	Draw of Lots	15	5
323	On RHS of Jalandhar-Nakodar Road on NH 703 B/w Milestone Number 21 & 23	Jalandhar	Regular	250	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
324	On NH54, Between KMs 69 to 73, Batala to Gurdaspur Road	Gurdaspur	Regular	150	ОВС	DC	45	45	2025	25	75	Draw of Lots	15	4
udham	Nawanshshar City WML, Garhshankar Road	SBS Nagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
326	On LHS of Jalandhar-Amritsar Road NH-3 B/w Maqsudan to Kartarpur City	Jalandhar	Regular	250	OPEN	СС	40	45	1800	25	10	Bidding	30	5

327	In or within 1 Km of Village Shakkarpur on Jalandhar - Pathankot Road NH-44 LHS	Jalandhar	Regular	250	OPEN	DC	50	60	3000	25	75	Draw of Lots	15	5
328	On LHS of Village Raipur Rasulpur, NH44, Jalandhar - Pathankot Road	Jalandhar	Regular	250	OPEN	DC	50	60	3000	25	75	Draw of Lots	15	5
329	Betweem Kmstone 42 To 45 On NH703, RHS, Nakodar - Dharamkot Road	Jalandhar	Regular	250	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
330	On RHS of Jalandhar-Amritsar Road NH-3 B/w Maqsudan to Kartarpur City	Jalandhar	Regular	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
331	On RHS of NH-44, From Chollang toll to Kurala Khurd, Jalandhar Pathankot Road	Hoshiarpur	Regular	150	OPEN PH	DC	40	45	1800	25	75	Draw of Lots	15	5
332	Within 2 Km Of Chabbal Chowk On Ibbankalan-Bhikiwind Road Or Tarntaran-Attari Road	Tarn Taran	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
333	On Leader Factory Road ,Industrial Area, Jalandhar City WML	Jalandhar	Regular	200	OPEN	СС	20	20	400	25	10	Bidding	30	5
334	From Wadala Chowk To Cheema Nagar Chowk, Jalandhar City WML	Jalandhar	Regular	150	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
335	Jalandhar City WML, From GPO Chowk to Shastri Market	Jalandhar	Regular	200	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
336	On either side Between Kms 366 to 368, NH44, from Pathankot to Jalandhar road	Pathankot	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4

337	On LHS of Jalandhar-Amritsar Road, NH-3, B/w Pathankot Chowk to Maqsudan Chowk, Jalandhar WML	Jalandhar	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
338	Cool Road, Jalandhar City (WML)	Jalandhar	Regular	250	OPEN	СС	30	30	900	25	10	Bidding	30	5
339	Shahkot City (WML), on Old GT road from Malsian to moga	Jalandhar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
340	Between Kms 38 TO 48 RHS, Pathankot to Amritsar NH54	Gurdaspur	Regular	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
341	In Village Nagara from Sabzi Mandi to Kapurthla Via Waryama, Jalandhar WML	Jalandhar	Regular	150	OPEN	СС	15.24	18.29	279	25	10	Bidding	30	5
342	On NH44, RHS, from Mukerian to Pathankot Road	Hoshiarpur	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
343	On NH44, In or within 2 Kms of Village Khanpur, Jalandhar Pathankot Road	Hoshiarpur	Regular	200	SC	CFS	50	60	3000	0	0	Draw of Lots	0	3
344	Dinanagar WML	Gurdaspur	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
345	In or within 3 Km of Village Kangana on Nakodar-Malsian Road NH-703 RHS	Jalandhar	Regular	200	OPEN	DC	50	60	3000	25	75	Draw of Lots	15	5
346	On LHS of Village Allowal on Nakodar-Malsian Road NH-703, Nakodar Bypass	Jalandhar	Regular	200	OPEN	СС	40	45	1800	25	10	Bidding	30	5

347	On LHS of NH-344 A(Old SH-18) from Phagwara to Ropar within 2 KM of Village Khangura	Kapurthala	Regular	200	OBC	СС	45	45	2025	25	10	Bidding	30	4
348	Within KM stone on 65 to 67 on NH-54 Amritsar to Gurdaspur either side	Gurdaspur	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
349	Nakodar City on Nakodar Mehatpur Bye Pass, between KMs 33 to 35	Jalandhar	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
350	Jaladhar City WML, from Manbro Chowk to Guru Ravi Das Chowk	Jalandhar	Regular	150	OPEN	СС	15.24	18.29	279	25	10	Bidding	30	5
351	Sultanpur Lodhi WML, Ber Sahib Road	Kapurthala	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
352	On LHS of SH-24 within 1 km of Village Khurdan From Hoshiarpur to Dasuya Road	Hoshiarpur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
353	Gujral Nagar, On Avtar nagar Road, Jalandhar City WML	Jalandhar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
354	Jalandhar - Kapurthala Road NH 703A(LHS)	Kapurthala	Regular	200	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
355	Sultanwind Byepass Road, From Taranwala Flyover To Intersection Of Amritsar-Tran Taran Road	Amritsar	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
356	Anywhere in Ajnala WML	Amritsar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

357	Between Pathankot chowk to Doaba Chowk, Jalandhar City WML	Jalandhar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
358	On NH354 , From kalanaur T-Point to kahlwali chowk, Derababananak, from Gurdaspur to Ajnala road	Gurdaspur	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
359	Amritsar City, On Sangatpura-Fategarh Churian Road (Maqbool Road) Within City , Before Bye Pass		Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
360	Phagwara City WML on NH-344B	Kapurthala	Regular	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
361	Hoshiarpur City WML, Prabhat Chowk to Sessions Chowk	Hoshiarpur	Regular	150	SC	CFS	15.24	18.29	279	0	0	Draw of Lots	0	3
362	Gurdaspur City WML	Gurdaspur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
363	Phagwara City WML on NH-44	Kapurthala	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
364	On LHS of NH-344 A(Old SH-18) from Phagwara to Ropar within 2 KM of Village Khalwara	Kapurthala	Regular	220	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
365	Within KM stone on 64 to 68 on NH-54 Amritsar to Gurdaspur (LHS)	Gurdaspur	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
366	Between km stone 10 to 15 either side on NH 54, from Pathankot Amritsar Road	Pathankot	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4

367	NH 703 A, On Kapurthala city Byepass (WML)	Kapurthala	Regular	160	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
368	K.R.S Gill Road, From Ram Talai To Ghee Mandi	Amritsar	Regular	150	OPEN CC 1	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
369	Either side of Pathankot Jammu Bypass Road NH44, Kms 349 to 353	Pathankot	Regular	250	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
370	On LHS of NH-44 (Old NH-1) from Jalandhar to Ludhiana between KM STONE 489 TO 492 (LHS).	Kapurthala	Regular	190	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
371	On NH 54 , RHS , Between Km stone 17 to 21, from Pathankot to Amritsar road	Gurdaspur	Regular	250	OPEN	СС	40	45	1800	25	10	Bidding	30	5
372	On RHS, From Malikpur chowk to Lakhanpur border road, NH44	Pathankot	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
373	On NH44, Mukerian City WML	Hoshiarpur	Regular	200	ОВС	DC	25	25	625	25	75	Draw of Lots	15	4
374	On NH 54, Between Km stone 34 to 39 - LHS, from Pathankot to Amritsar road	Gurdaspur	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
375	On NH54 RHS, Between KMs 156 to 168, Amritsar Tran taran Road	Tarn Taran	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
376	On NH54 LHS, Between Kms 151 to 154, From Amritsr to Tarn Taran	Tarn Taran	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5

377	Within 2 Kms of Village Alachaur on NH103A, Garhshankar Nawanshahr Road	SBS Nagar	Regular	200	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
378	Amritsar City, On Circular Road, From Ratan Singh Chowk To Kachehri Chowk	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
379	In Nakodar WML on Nakodar Malsian road	Jalandhar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
380	On LHS of NH-103A Village Bahowal From Hoshiarpur to Chandigarh Road, between KM Milestone 2 to 5	Hoshiarpur	Regular	150	OPEN CC 2	DC	45	45	2025	25	75	Draw of Lots	15	5
381	In Or Within 3 Km Of Sura Nassi , Jalandhar City , WML	Jalandhar	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
382	Amritsar City, On Kot-Khalsa Road, Upto Kotkhalsa Main Chowk	Amritsar	Regular	150	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
383	Manawala To Tarn Taran Highway, On NH-54, Between Km. Stone No 116 to 121, LHS	Amritsar	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
384	Either side on NH344A, within 2 kms of Village Jadla, Balachaur Nawanshahr Road	SBS Nagar	Regular	200	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
385	On Ajnala Road, From Amritsar Bye Pass To Airport, Either Side (WML)	Amritsar	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
386	Batala City WML, From Shiv kumar Batalvi Auditorium to More Complex, Batala Jalandhar Road or Batala Qadian Road between KMs 12 to 14, LHS, Quadian road	Gurdaspur	Regular	120	OPEN	СС	15.24	18.29	279	25	10	Bidding	30	5

387	On RHS on NH344A, within 2 kms of Village Dhahan, Behram Banga Road	SBS Nagar	Regular	200	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
388	On NH354, From Ajnala to Dera Baba Nanak	Amritsar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
389	Hoshiarpur City WML, from Bus Stand to Phagwara Chowk	Hoshiarpur	Regular	150	OPEN	DC	15.24	18.29	279	25	45	Draw of Lots	15	5
390	Pathankot WML , Circular Road	Pathankot	Regular	120	OPEN	CC	20	20	400	25	10	Bidding	30	5
391	Hariana WML, On Hoshiarpur Dasuya Road	Hoshiarpur	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
392	Batala City WML, on Batala to Jalandhar Bypass	Gurdaspur	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
393	Pathankot City WML, min 22 ft road	Pathankot	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
394	Amritsar City, From Hakimanwala Gate Chowk To Gilwali Gate Chowk	Amritsar	Regular	150	OPEN CC 1	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
395	Amritsar City, on road connecting Mirankot Chowk to Ram Tirath Road, WML	Amritsar	Regular	150	ОВС	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
396	On NH54, Between KMs 140 to 150, LHS, Amritsar Bhatinda Road	Tarn Taran	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3

397	Between KM Stone 123 to 121 on NH -54 from Bathinda to Amritsar, LHS	Tarn Taran	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
398	Village Aima Mangat, RHS, NH44 from Jalandhar to Pathankot road	Hoshiarpur	Regular	200	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
399	On NH-103A From Garshankar to Nawanshahr Road	SBS Nagar	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
400	Hoshiarpur City WML, Within 2 Kms from Shimla Pahari Chowk on Una Road	Hoshiarpur	Regular	120	OPEN	СС	20	20	400	25	10	Bidding	30	5
401	On NH354, in or within 2 Kms of village Sandhwal, from Mukerian to Talwara Road	Hoshiarpur	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
402	Balachaur City WML, Balachaur Mehndipur Road	Hoshiarpur	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
403	Either side On Ajnala Road, From Mirankot Chowk to Rajasansi	Amritsar	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
404	Bhogpur WML, either side on NH44	Jalandhar	Regular	150	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
405	Garhshankar City WML	Hoshiarpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
406	On Old GT Road, From magsudan to Bidipur, LHS, Jalandhar City WML	Jalandhar	Regular	200	ОВС РН	DC	15.24	18.29	279	25	60	Draw of Lots	15	4

407	On RHS of Nakodar Chowk to Kapurthala Chowk, Jalandhar City WML	Jalandhar	Regular	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
408	On Income Tax Colony Road, From Jauhal Nagar Market to Urban Estate-II, Jalandhar City WML	Jalandhar	Regular	200	OPEN	DC	15.24	18.29	279	25	60	Draw of Lots	15	5
409	Either side of NH103A, between Chagran to Jaitpur	Hoshiarpur	Regular	200	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
410	On Amritsar Bye Pass either side, From Golden Gate (Amritsar Entrance) To Verka Chowk	Amritsar	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
411	On Old NH1, from Kms 426 to 430, LHS, from Amritsar to Jalandhar Road	Amritsar	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
412	On Old NH1, from Kms 442 to 446, RHS, from Amritsar to Jalandhar Road	Amritsar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
413	JP Nagar, Jalandhar City WML	Jalandhar	Regular	150	OBC	DC	15.24	18.29	279	25	60	Draw of Lots	15	4
414	Village Kathgarh From Kathgarh to Rattewal Road, SBS Nagar	SBS Nagar	Rural	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
415	On Amritsar-Majitha Road, Between Village Nangal Pannuan to Majitha Railway Crossing	Amritsar	Rural	80	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
416	On Tahli-Sahab Road, from Village Tahli Sahib to Mahmudpura	Amritsar	Rural	80	OBC	DC	35	35	1225	12	30	Draw of lots	5	3

417	VILLAGE DASHMESH NAGAR LOLA, ON KHAJALA-JANDIALA ROAD	Amritsar	Rural	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
418	Village Kehsopur From Gardhiwala to Litan Road	Hoshiarpur	Rural	100	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
419	Village Jamsher, on Jalandhar Cant bypass Road	Jalandhar	Rural	150	OPEN	СС	35	35	1225	12	5	Bidding	10	4
420	Village Maliakhurd , Opposite Grain market, Taran Taran	Tarn Taran	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
421	Village Barian Kalan on Bahowal to Bham Road	Hoshiarpur	Rural	100	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
422	in or within 4 KM on Kanal road connecting Jamarai to Chola Sahib	Tarn Taran	Rural	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
423	Village Kohla on Partapura to Adhi Khuhi Road	Jalandhar	Rural	130	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
424	Village Khalu, on Khalu to Sheikhupur Road, District: Kapurthala	Kapurthala	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
425	village chounta on Mirthal to Dinangar bypass road	Gurdaspur	Rural	80	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
426	Village Daroli Kalan, On Adampur to NH-344B intersection	Jalandhar	Rural	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

427	Village Lehli Kalan, on Chabbe wal- Mona Kalan Road	Hoshiarpur	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
428	On LHS, Between KMs 2-4 on Naushera Panuan to Lahuke, Vill Khabe Rajputtan	Tarn Taran	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
429	Village Adliwala, On Ajnala to Adliwala Road	Amritsar	Rural	80	OBC PH	DC	30	30	900	12	30	Draw of lots	5	3
430	Village Thatha, Fatehgarh Churian on Amritsar Majhita Fatehgarh Churian road	Gurdaspur	Rural	70	SC	CFS	30	30	900	0	0	Draw of lots	0	2
431	Village Sidhwan on Sidhwan to Khalraa road	Tarn Taran	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
432	Village Agwan, Dinanagar to Derababa Nanak Road	Gurdaspur	Rural	80	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
433	Village Goindwal Sahib on Kapurthala gobindwal sahib road	Tarn Taran	Rural	70	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
434	Village BASANTkot, On DHIANPUR - KALA AFGHANA Road	Gurdaspur	Rural	80	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
435	Village Sariana From Hajipur to Mansar Road	Hoshiarpur	Rural	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
436	Village Rurka Kalan on Rurka kalan - Goraya Road, LHS	Jalandhar	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4

437	Vill- Sidhwan Dona, on Sidhwan Dona Bhandal Dona Road	Kapurthala	Rural	80	ОВС	DC	30	30	900	12	30	Draw of lots	5	3
438	Village Gobindpur, Banga to Kot Fatuhi Road, SBS Nagar	SBS Nagar	Rural	80	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4
439	Village Seoti Taraf (On Sunder chak - Narot Jaimal Singh Road)	Pathankot	Rural	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
440	Village Lodhi, On Chogawan - Ranian Road	Amritsar	Rural	80	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
441	VILLAGE CHETANPURA, ON AMRITSAR- FATEHGARH CHURIAN ROAD	Amritsar	Rural	80	OPEN	DC	35	35	1225	12	30	Draw of lots	5	4